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C1 REVISION - CHAPTER 2 - ROCKS & BUILDING MATERIALS

What is the scientific name AND | { What is thermal decomposition? N ( :
. . What is cement?
chemical formula for limestone?

What is concrete?

Write the word and symbol equation for the
What is produced when a thermal decomposition of limestone
carbonate reacts with an acid?

What are the benefits and drawbacks to limestone quarrying?

BENEFITS DRAWBACKS

| J\.

L

\

Complete the limestone reaction cycle:

Calcium Carbonate

Add CO, A

Add water (
Add more KEY WORDS: ASSESSMENT:
water &

filter CALCIUM CARBONATE
THERMAL DECOMPOSITION
CONCRETE
CEMENT
QUARRYING
LTMESTONE

f K LIMEWATER
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C1 REVISION - CHAPTER 4 - CRUDE OIL & FUELS

p

( Name the process by which we \(6vee problem each pollutant causes: ) \95 the benefits and drawbacks of each alternative fuel )
MMW:%%MM:M%QN oil into useful Carbon Dioxide
penents BENEFLTS DRAWBACKS
Sulphur Dioxide BIODIESEL
. (more detail
What property does this required for
process rely on? Carbon Monoxide this onel)
Nitrogen Oxide
What does 'saturated’ mean?
Particulates
\_ J\L y,
\noav_ﬁw the table to summarise alkanes and alkenes: ) ETHANOL
ALKANES ALKENES
Saturated or HYDROGEN
unsaturated
General formula
Name an example \L )
Draw an example KEY WORDS: ASSESSMENT:
ALKANE
ALKENE ﬂw
SATURATED
FRACTIONAL DISTILLATION
ALTERNATIVE FUEL
POLLUTANT
COMBUSTION
= J
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C1 REVISION - CHAPTER 6 - PLANT OILS

(What is the equation for photosynthesis?

Describe the 2 ways to extract plant oils:

Pressing

Distillation

~N

\.
("

H—G—H H—C—H
|
H B S
C—H H—C—H
I S
C—H H miﬁ_wlm
|

H—C—H H—C—H

Explain what is happening:

se the diagram to explain how oils are hardened into spreads (hydrogenation)

Conditions required:

J
~N

\

What do emulsifiers do?

Name 2 products that need emulsifiers in them

Name 2 products that ARE emulsifiers

Complete the diagram to demonstrate emulsification:

Water

What does hydrophobic
mean?

What does hydrophilic
mean?

J

KEY WORDS: ASSESSMENT:

HYDROGENATION
EMULSIFIER
HYDROPHOBIC
HYDROPHILIC

PRESSING
DISTILLATIOON
HARDENING
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C1.l The fundamental Ideas in Chemistry

Cl.l.] Atoms

What is an atom?

R R N N a  a R N A RN

[P R R R N I N R R N R AR RN AR R RS

R R R R N N N N N R R S N LA AR I

What is an element!

P R R R R R R R R I R R A R R RN R S LA A
eser s

PR T T I R R R S R R R R R I R R R N N N LSRR LR

R I R R I R O N R I N R N N R R R RN A AL A

Indicate where you would find metals and non-metals:

Periodic Table of the Elements

1 2
H He
1.008 4.00
3 4 5 6 7 8 9 10
Li | Be B ¢ | N 0 F | Ne
604 | 901 1021 | 1201 | 14.01 | 16.00 | 19.00 | 20.13
11 12 13 14 15 16 17 18
Na | Mg Al Si| P S | Cl| Ar
22.99 | 24.31 2693 | 22.00 | 30,97 | 32.07 | 3545 | 39.95

19 a0 21 42 23 24 25 26 27 23 20 30 31 32 33 34 33 38
K |Ca| S |T| V|{C|kMu|Fe|[Co| M |Ca|Zn|Ga|Ge| As| Se| Br | Kr
3030 | 40.08 | 4406 | 4788 | 5094 | 52.00 | s4.94 | 5585 | 52.93 | 5069 | 63.55 [ 6530 | 69.72 | 7261 | 7492 | 78.96 | 79.90 | 83.60
31 38 39 40 41 42 43 44 45 45 47 42 49 50 51 52 53 54
Eb| S Y | Zr |Nst |Mo| Te |Ru|{Rh | Fd |Ac|Cd| In|Sn|Sh| Te| I | Xe
8547 | 97.62 | £e.01 | 0122 | 92,01 | 9504 | (@y {1010 | 1029 | 1064 | 1073 | 1124 | 1148 | 1187 | 1207 | 1376 ) 1260 | 1312
55 56 57 72 173 FZORE 6 77 78 79 a0 81 &2 83 34 85 26
Cs|Ba| La|Hf {Ta| W|Re |Os| Ir | Pt |Au|Hg | Tl | Po | Bi | Fo | At | Rn
1229 | 1373 | 1399 {| 178.5 | 1901 { 183.9 | 1862 | 190.3 | 1922 | 1951 | 197.0 | 200,6 | 204.4 | 207.2 | 209.0 | (309) | 210) | (322)
&7 8 89 {04 |105 106 | 107 |10 |Ioo 110 |11l [112 [113 [1i4 [115 |116
Fr |Ra | Ac | Rf | Db | Sg| Bh | Hs | Mt | Ds | Rg | Uuwb | Uut | Uug | Uup | Uuh
223.0 | 226.0 | 2270 || 261 | @62 | 63) | @62 | 65y | @66y | 281 | car2y | (@85) | (284) | (289) | (288) (202}

58 39 |60 61 62 63 64 |65 a6 67 |68 67 70 K
Ce | Pr|Nd [Pm|Sm|Fu| Gd | Tbh |[Dy | Ho | Er | Tm | Ybh | Lu
1401 | 1410 | 1442 | (45) | 150.4 | 153.0 | 1573 | 156.9 | 162.5 | 1649 | 167.3 | 168.6 | 173.0 | 175.0

90 o1 |92 (93 |94 |95 56 |97 |93 |99 [100 |101 [102 |[103

Th | Pa| U |Np | Pu|Am|Cm|Bk | Cf | Es | Fm | Md| No | Lr
2324 | 2314 | 2280 | 37 | 0) | () | ey | 48y | sty | s | sy | sy | ase) | (262)




Match the name of the element with the symbol

Element Symbol
Oxygen
Sodium

H

Li
Copper
Potassium

Ar

Ca

Draw and label the structure of an atom. Ensure that you include the following

key words:

Nucleus Protons Neutrons Electrons



Cémpleté the table below

Name of Particle

Charge

Mass

Proton

Neutron

Electron

Explain why atoms have no overall electrical charge.

R R R R R R R R N A A N A A

What does the atomic number tell you?
What does the mass number tell you?




Sl

L
v

Complete the table

Element | Symbol | Atomic | Mass Number | Number | Number
| Number | Number | of of of

Protons | Neutrons | Electrons

Hydrogen
He
3
2
5

Draw diagrams to show the electronic structure of the elements above. You

should use 2 different methods of representing the electron arrangement.

For example:

Carbon




¥ - - .

Describe the structure of an atom (6




C1.1.2 The Periodic Table

Complete the table

Group Number Number of Electrons in Outer

Energy Level (Shell)

Using information in the table above, explain why elements in the same group
of the periodic table have similar properties

------------------------------------------------------------------------------------------------
------------------------------------------------------------------------------------------------

------------------------------------------------------------------------------------------------



&

Label €ach of the group of the periodic table below. You may colour each

group a different colour to show where they are.

Periodic Table of the Elements

1 2

H He
1.008 4.00
3 4 5 [ 7 8 9 10

Li | Be B C| N| O| F | Ne
694 | 801 1051 | 1201 | 1401 | 16,00 | 19.00 | 30.18
11 12 13 14 15 16 17 18
Na | Mg Al 5| P S | Cl| Ar
22.99 | 24.31 2698 | 28.09 | 3097 | 32.07 | 3545 | 3095

19 20 21 22 23 24 25 26 27 28 28 30 31 32 33 34 35 36
Klca| S¢| Ti| V| Cr|Mn|Fe | Co| Ni [Cul|2Zn|Ga|Ge| 4| Se | Br | Kr
30,20 | 4008 | 44.96 | 47.88 | 5004 | 5200 | 54.94 | 55.85 | 56.93 | 56.69 | 63.55 | 6530 | 69.72 | 7261 | 74.92 | 78.96 | 79,90 | £3.80
37 38 39 a0 41 42 43 44 45 46 47 43 49 50 51 52 53 54
Bh| Sr| Y | Zr |Nb |Mo| Te |Ru|Rh | Pd | Ag [ Cd | In | Sn | 5b | Te I | Xe
g5.47 | 8762 | 8801 [ 0132 | 9251 | 9504 | (vey | 1010 | 1029 | 1064 | 1072 | 1124 | 1148 | 1187 | 1217 | 127.6 | 1269 [ 1312
55 56 57 72 13 74 75 76 17 78 79 80 21 82 &3 24 25 86
Cs|Ra | La|HBf {Ta| W|Re |Os | Ir | Pt |An |Hg | T1 [ Pb | Bi | Po | At | Rn
1320 | 1373 | 1380 [ 1785 | 190.1 { 183.9 | 1862 | 1602 | 192.2 | 195.1 [ 197.0 | 2006 | 204.4 | 207.2 | 200.0 | (209) | (210) | (222)
27 88 20 64 (105 (106 | 107 [108 |109 [110 |11l [ii2 113 [114 |115 | 11é
Fr |Ra| Ac | Rf | Db | Sg | Bh | Hs | bt | Ds | Rg | Uuh | Uut | Uug | Tup | Uuh
2030 | 2260 | 2270 || @51y | 62 | 263 | emy | 265) | 66) | el | ¢ar2) | (285) | 284) | (289) | (288) (202

58 59 |60 6l 62 [63 [64 [65 [66 |67 [68 |69 |70 71

Ce | Pr |Nd {|Pm|Smn|Fu|Gd|Th Dy | Ho | Er | Tm| Yh | Lu
140.1 | 1410 | 1442 | (143) | 150.4 | 153.0 { 157.3 | 1589 | 162.5 | 1649 | 167.3 | 1689 | 1730 | 1750
90 91 92 93 194 {95 96 |97 |98 |99 100 [101 |102 103

Th | Pa| U [Mp | Pa|Am|Cm|Bk | Cf | Es | Fin| Md| No | Lr
3324 | 2314 | 2200 | (237 | ¢0) | (43) | (47 | (a4 | casy | casay | 57y | s7y | (259) | (369)

The elements in group 0 (the noble gases) are very unreactive, explain why.

$ 6 8 8 8 5 0 4 E S B P RN O S8 €9 8 88 0 P BN EOEP eI 0P 00 P EEIS S0 CEEIEOIIIIIIIINOIIEISIOIEEINIIILIIOIIEIIIOIOIIOIETOGTTDY

[ R R R R N N R I I R N AL AL

o € 5 5 6 5 8 1 €5 5 60 8 0PN G0 E 8 S EE TS0 PN EN e P EIEE OGS GO0 0SS0 L0 TIE eI EIIIPLLIIIIEILIIIIEIOSLIIIIICELIOILIEIIOIDN



| C.I'..I.3 Ch‘emicalv Reactions

For each chemical reaction:

a. Write the word equation
b. Colour the reactants in one colour and the products in

another

c. ldentify how many of each element there is in each
compound

1 Hydrogen 1 Sodium
1 Chlorine

Word Equation:

Hydrochloric acid + Sodium Hydroxide ~™

1 Hydrogen

1 Sodium 1 Chlorine

2 Hydrogens

1 Oxygen 1 Oxygen

?» Water + Sodium Chloride

CaCOr—uno

Word Equation:

CaO + C02




H, + ZnSO,

Zn + H,SO4

Word Equation:

Mg + HCI

Word Equation:

MgCl + H,

PbO + C Pb + CO,

Word Equation:

d. Extension: Balance the symbol equations (Higher tier only)



£

What is a compound?

@ 600000000000 000006006000600000000000000000000000000000000000IsEsEIS

What is an ion?

What type of bonding occurs between:
Metal and non-metals?

Two non-metals?

Complete the table about forming ions:

D R R N I I A R A A A

D R I I R R I A N A A N A )

Metal/Non-metal Gain/Loose

Electrons?

Positive/Negative

lon?

Metal

Non-Metal




Di:aw a diag:r'élm'show'ing the bonding between sodium and chlorine to form

sodium chloride.

Draw a diagram to show how hydrogen and chlorine bond together to form

HCI.



Cbmplete the table, calculate the mass in each case.

Reactants Products

Hydrochloric acid | Sodium Sodium Chloride | Water
Hydroxide

20g 20g 10g | g

Calcium Carbonate

Calcium Oxide

Carbon dioxide

.............. g [0g I5g

Zinc Sulfuric Acid Hydrogen Zinc Sulfate
10g . g 20g 10g
Magnesium Hydrochloric Hydrogen Magnesium

Acid Chloride

I2g 1 7g VO I 5g

Lead Oxide Carbon Carbon Dioxide | Lead
............ g | 4g 23g |2g




CI .2 Limestone and Building Materials

Cl.2.1 Calcium Carbonate

What is limestone made from?

DRI A A A SN} Perevesre e s tsss e R R A A A A N ) vrese s D I N A R SRR I AR e
ooooooo D I A A A R . . . . ’e I R I I I I R R R R N N
s DR R N NI Y R R R A A N Y ses e ‘. D A R R I A N N ] tscress e e

oooooo

oooooooooo I A N Y R R S R N I I T R R S O R I N I R R IR I A )
ter e R ] R R R ORI I BRI A S ) s er e R R A A I I I A
DR DRI Y D N R N D R A R I A A I N R N R ) er e vt ce e



Write the word and symbol equations for the thermal decomposition of

calcium carbonate.

What happens to magnesium carbonate, copper carbonate, zinc carbonate and
calcium carbonate when they are heated?

P R $sesesssen P N N RN teses e DRI tesceren P N R RN D R R I I ) .
‘e sessesescs e treectes st seseers s es e L I I I I I sesss s
oooooooooooo e sreserssersrseare I I R R R R N R I R R R I R I R e R R R N A A I R R Y]

Give a reason why not all of the above reactions could be observed in a
classroom?

I R N R R L R I R I N R R R R R I R R R I R R I R I R R I I R R A N R I I N A A A A

Write word and symbol equations to show what happens when calcium oxide

reacts with water. What can the product be used for?



How do you test for the presence of carbon dioxide? Draw a diagram and
write a description.

Cer e sev e L R R I I I R R R N I B A ) tecerevsase D R R A I A A A A A A Y .
R R I I N R R S R I I I I R R I R R ] .
cen . Y sessr st e PP I eI eIt PIOIIOERIIOIIOOGIOEOILOEOLIINOLOIOE SN tees s e e ses e esrne



R I R I R R R R R R R R I I I I I I R N N N R N

---------- I R N I I I R A N R N R I A A ) DI I R R A N N I I IS AT Y . soe
DR D R I I I Y .o R R R I I I R N R tssesacsso e tes e s s s
L I R N A sesecer 0 ¢sseres et sesess s D R R I I A A A S A te e s vese e

Complete the following:

Limestone + Heat + Clay = ...........cooovviinnn

Cement+Sand = ....ovviviviiiininnnnn

Cement + Sand + Aggregate = ..... e e




Discuss the advantages and disadvantages associate with limestone quarries.

You will need to consider environmental, social and economic factors. (6

marks

.

.




C;'I..3 Meta.l's ;an'dv Their Uses

Cl.3.| Extracting Metals

What is an ore!?

------------------------------------------------------------------------------------------------
------------------------------------------------------------------------------------------------

------------------------------------------------------------------------------------------------

------------------------------------------------------------------------------------------------

------------------------------------------------------------------------------------------------

What does the reactivity series show us?

Most reactive Potassium
Sodium
Cal¢ium
Magnesium
Aluminium
Carbon
Zinc

Iron

Tin

Lead
Hydrogen
Copper
Silver
Gold

Least reactive Platinum




R I R R I R S R R R R O I I I I R I R R R R N R RN

DR R R R R R R R R I I I I R R R R R N N R R )

I R R N R I I A A I}

I R I I R I I R R R A N )

NUPPPPRTII PP e T
Why is alumini ive?

Y Is aluminium expensive
PP P RO e SR
UTPPPRO PP ST TP S O e
e TP s e PRI



Refining copper

D.C.
current

Negative
Cathode
S Made of
‘Positive Pure

Anode copper

e RERRRNAR,
A AN A AN AN AN AT AN A
WV\AJVV\’\NV‘W"I&W AR
B AN AN AN A A
W«\«Mvv\fvwwﬂ:w‘;» R
NN
N A AN AN AR N NN
A A A A A NN R ORI
A A A AAA AN AN
B A A N A A RN AR
A A A A A A A A AN

Add the following statements to the correct place on the diagram above

|. Copper atoms lose electrons and become copper ions.

2. The positive ions drift away from the anode

3. Cu**+2e-—> Cu

4. Positive copper ions drift to the cathode.

5. The cathode is electroplated

6. Cu > Cu* +2¢e

7. The anode dissolves

8. Copper atoms gain electrons and become copper atoms




Défine the following words:

Phytoming

teeiiiesninninans S e e e ebesereasassarieeteraessaetetrsestosens AN teseesssnsuns
Cereersaeneens Cecrereresanse veeeeseoa AN Ceererienes teererireseeneses sesees S S P .
coees Cerrersauas ceves B Ceeteseseteretiseass
...... et s s s e e eaea et aessearataaa e etaatataaenetasaatatetasetettetaretestateretntetraersns

sses et D R R N N R R R A I I I A N I I NY e sesreneee I R cser e
----- D A N N NI A Y R A R R I R N R R I A R S A A I A AN} R I A A A R N R A}
-------- seevsseerrever s DY R R R IR S A A N T A A AN R R R I R A R R )






C1.3.2 Alloys

What impact do impurities have on the properties of iron when it comes from

the blast furnace?

.......... et veeeee e eaae et e e et terre e e eeree ittt aaarrr et e et e e e
et erereanararees eeeereeeeas ceveen et eree et et e brareeenaeeeaeras eeeenns
e e eeeeernnneeeneaas e e ereneenereeaas et erereeeae e enas e
What is steel?

?
ererernnan reeerees Ceeeeeans Cerees e e, e erereernerean et eeetaeeeeer e,
.............. t et eeeereteteae et e et a e ee e st e e e e e e e ettt et e e
......... ettt ete et e e ee et e e et e e ae e e et e areaa e e ettt e e e e aaeraaa

Complete the table

Properties of high carbon steel | Properties of low carbon steel







cl33

Colour in the transition metals

Periodic Table of the Elements

1 2

H He
1.008 4,00
3 4 5 [3 7 2 9 10
Li | Be B C | N 0O F | Ne
654 | 901 1081 | 1201 | 1401 | 16.00 | 19.00 | 20.18
i1 12 13 14 15 16 17 18
Na | Mz Al 8% | P S| 1| Ar
22,99 | 2431 2698 | 23.09 | 3097 | 32.07 | 3545 | 30.85

19 20 21 22 23 24 25 26 27 28 29 30 31 32 33 34 35 36
K|Ca)] S | Ti| V |Cr|Mn|Fe|Co| Ni |Cu|Zn|Ga|Ge| As | Se | Br | Kr
30.20 | 40.08 | 44.96 | 4758 | 50.94 | 52.00 | 54.94 | 55.85 | 58.93 | 56.60 [63.55 | 65.30 | 69.72 | 72.61 | 74,02 | 78.96 | 7000 | 8380
37 38 39 40 41 42 43 44 45 46 47 43 49 50 51 52 53 54
Bh | S| Y| Zr |[Nb |Mo| Tc |Bu (Rh | Pd Az |Cd | In | Sn | 8b | Te| I | Xe
8547 | 87.62 | 88.91 | 91.22 | 9291 | 95.94 | ¢og) {1010 | 1029 | 1064 | 1078 {1124 | 148 | 1187 | 1217 | 127.6 | 1260 | 131.2
55 56 51 72 3 74 (5 T 7 78 79 80 E3) 22 83 &4 &5 &
(s |Ba | La|Hf | Ta | W |Re [Os | Ir | Pt |An |Hg [ TI | Pb | Bi | Po | At | Ru
1329 | 1373 | 1389 || 178.5 [ 1800 | 1839 | 1262 | 1902 | 1922 | 1951 [197.0 | 2006 | 2044 | 2072 | 2000 | 09y | cioy | ¢
87 88 83 104 [105 [106 [107 |10g 109 [1i0 [111 |1i2 113 [i14 [1i5 | 116
Fr |Ra| Ac | Rf | Db | Sg | Bh | Hs | Mt | Ds | Rg | Dub | Uui | Ung | Uup | Uuh
2230 | 2260 | 227.0 || @61y | o2y | 63) | @en | 265y | o6y | @sn) | zr2) | 285) | ey | 2e9) | c2ae) | (202]

58 59 60 61 62 63 64 |65 66 67 68 69 70 m
Ce | Pr [Nd |Pm (S| Fu | Gd | Th [Dy | Ho | Ev | Tm | Yb | Lu
1401 | 1410 | 1442 | (45) | 150.4 | 153.0 | 1573 | 1569 | 162.5 | 1649 | 167.3 | 169.9 | 173.0 | 175.0

90 91 92 93 94 |95 96 |97 3 99 {00 {101 [102 [103

Th | Pa| U |Mp | Pu|[Am |Cm|Bk | Cf | Fs |Fn | Md | No | Lx
3524 | 2314 | 2280 | @57 [ 2400 | c243) | caamy | cad) | 23y | cas2 | easmy | ces?y | 259y | Q62)

List properties of transition metals

|
R R I e R I R R R A I I I I I O I I R I R I A N A IR
R R N S A R R R I A R I R R A I I I I R N R R

R R R N R S A I R I R I R I N I I I I R I I T R R I N R R )



Complete the table

Metal

Properties

Uses

Copper

Aluminium

Titanium




C1.4 Crude Oil and Fuels

Cl 4.1 Crude Qil

What is crude oil?

serss e IR R NN e sresser e sesess e RN . . ‘e
P I I A AP A A A A R R N ] RN X teeses st e
s eer e teeecs s D N A A N Y sese e teser e B I N N XA

Use diagrams to show how crude oil was formed.

.....



What is a mixture?

L A N I R I I I I R I I N R I N R S A S S P A S S P S ST ST S N ST AT ST ST ST AP 'Y

D I I I N R R R R R A I I D R I B I I WY R R R R R I I I A A D R R R I I AT A )

Name a saturated hydrocarbon

Give the general formula of an alkane




C'il 4.2 Hydrdcarbons

Complete the following table

Alkaﬁe Number | Number of | Formula | Structure
of Hydrogens
Carbons
I
6
CsHg
Butane H H H H
[ 1
St
H HHH
Pentane |5




What is fractional distillation?

§8. 005 06006000 00000800000500 0000000000000 080000000000008900800000P0esLI0IIIIIILILIINIIOIEIIIIIOICEIENGE

0044000 0000606000000 0 000600060000 00600008000000000 00000000008 L R A I I R R R I N R N R I I I S AN S A AP AT Y

terese ¢reesserserreereers et e tessssrerenas tessercenrns teestevesnes tresecseren teesesserers e .. |
i
ooooooo DR tece e X S 4 0 0 68 806080000000 00800000000000000 000000000000 NeRRssLEIIIIELIERINGSTS

L R R I R R N N N K] D I R I I I I N R S N NI I S A A AP AP AT D N R N I N I S

Draw a diagram of a fractionating column -



Where do substances with high boiling points condense in the fractionating

column?

e s e e tev e . sen R R I A AT s eeesesr e P A R A A A R IS A cee re e e
sess e e O R R R N R R R R R N N R R tecees e D R N ) te s st eres e
. trrse v tesess0 a0 v tsserscse v sr e EEERERY R R R S A A A I A A R AT S A tere e

Where do substances with low boiling points condense in the fractionating

column?

ceeeereaes cvessnensans veessss T cesieeerans sevnuerevieseieresnens
.....
veeseriiaes vesesresrrisaes PP ceeres Cevesranencesenas cerernanne cereserrare
.
efine the tollowing woras:
:
Vi it
.................
e Cereeeaien RRRRIIRIIE et vessereans Ceereeeiieeeas ceeeenn . e
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Haw does the length of the carbon chain affect the following:

Boiling point
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Cgi 4.3 Hydrbcarbon Fuels
Complete the following equation for the combustion of hydrocarbons

Hydrocarbon + ................ = oo e o .

The following substance can be released when fossil fuels are burnt. Explain

where they come from and the impact that they have on the environment
Carbon dioxide

Produced due to

N RN ENE] DRI A Y D I R R R R N N Y R A A R I I N A R I terert e s e sreeer e
revesev e DRI I SR SIS RN DR R R R R A R A A A A ) seeseses s e s DR R N R S A A R A )
teseessre s DRI Y I I I I R N I N RN D N A I



-

Sulfur Dioxide

Produced due to
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Oxides of Nitrogen
Produced due to
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Particulates

Produced due to
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of acid rain




D'escribe the ¢

How are biofuels produced?
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C}I‘.S Other Useful Substances from Crude Qil

C1.5.1 Obtaining useful substances from crude oil

What is cracking and why is it necessary?

es e . I R R R I I I I I I A AP R I A P R R A R R I N I A P ST ST I Y D I PR N N )
tes e e D R N I NI S A A A I Y ©0 00000 00PN CEI LI IIEIIOGOIIOIEOIOEIOIOILBIOEGLTITRSE 4o esesscsssee ses e
I I I R I I R NN ¢srsssev e DRI WA Ay DR A N A Y D R A I A S A A Y

IEEEE) DR I I S R R S A I I I vesssas terecesssssenne EEEERERE tesessress s RN

cee .. seesense trerssenn B N N N I P R R R .o . ssssas e
R I I R R R R R R R A I S A N R R R I ) R A I I R R R A A A A P I P A I I I SR
sessesererasa s #0608 00006000 6000000000000 0orossreeransntsosnsssesnossssssssnsosessssasesosorssses



Alkene Number of | Number of | Formula Structure
Carbons Hydrogens
I
4
CsHg
Butene Eil Iril l-li !Ii'l
H-—(i‘;—rf—c == ?
H H H
Pentene 5




Cl.52 Polymefs |

Draw a diagram representing the process of polymerisation of ethene. Label

the following:

Monomer Polymer Ethene Poly(ethene)

Describe the process of polymerisation.
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/hat uses do we have for polymers?
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Why is it important to recycle polymers?



C1.5.3 Ethanol

What are the two methods of producing ethanol?
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CI .6 Plant Oils and Their Uses

Cl.6.]1 Vegetable Qils

What steps are required to extract oils from fruits, seeds and nuts?
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Why are vegetable oils important foods?



C'EI:.6.3 Emﬁisions

What is an emulsifier?
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Higher Tier - What is meant by hydrophobic and hydrophilic?




C?Ei'-.6.3 Saturated zihd Unsaturated Oils

How do you test for the presence of a double bond?
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The presence of a double bond means that oil is Saturated/unsaturated. (Delete

as appropriate)

Higher Tier - How can unsaturated oils be hardened? Describe the

properties of the product.
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clL7 Chahgés in the Earth and its Atmosphe:l?e

Cl.7.1 The Earth’s Crust

The structure of the Barth

Draw and colour in: Key:
The inner core
The outer core
The mantle
The crust

Using your key, colour in the boxes below
to show which part of the structure they
are referring too.

Behaves ke a solld,
| Radius of 3500km butdoes flow

How do earthquakes and volcanoes occur?

................................................................................................
................................................................................................
................................................................................................
................................................................................................
................................................................................................

------------------------------------------------------------------------------------------------



fi.

Explain why Wegener’s theories of crustal movement were not accepted for

many years?
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Explain why scientists cannot accurately predict when earthquakes and volcanic

eruptions will occur?
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Higher Tier - Describe why we do not know how life was first

formed?
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C1.7.2 The Earth's Atmosphere

Label the diagram to show the proportions of different gases in the

atmosphere:

What was responsible for the formation of the Earth’s early atmosphere and

provided the water that formed the oceans?
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What procéss produced the oxygen that is now in the atmosphere?
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What happened to a lot of the carbon dioxide that was in the air?

Higher Tier - What process could be used to separate the mixture

of gases that makes up air?

--------
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http://www.sci-ed-ga.org/modules/materialsciencel/light/pdf/section_07.pdf

Experiment 1:
The Room Temperature Filament Resistance of Different Wattage Light Bulbs

Purpose:
Determine the relationship between the wattage of a light bulb and the measured
value of the filament resistance.

Materials Needed:

1. Ohmmeter - digital auto-ranging preferred, such as the VWR P/N 26983-175
2. 100 W light bulb

3. Optional - other wattage light bulbs

Procedure:
1. Measure the resistaggggi;he filament of the 100 W (or other) light bulb by

connecting oneﬂﬂ(m)ﬂmhe probes of the ohmmeter to the bottom contact of the
bulb and the other probe to the side of the base of the bulb. This will measure
the resistance of the filament, which dominates the resistance being
measured.

2. Determine the resistance of the filament using the equation relating the
wattage of the bulb to the filament resistance.

3. Discuss why the value of the resistance determined experimentally in step 1
differs from that obtained theoretically in step

4. Optional. Repeat steps 1-3 for other wattage bulbs.






http://lwww.nuffieldfoundation.org/practical-physics/measuring-
resistance-voltmeter-and-ammeter

Measuring resistance with a voltmeter
and an ammeter

Determining resistance from measurements of potential difference (p.d.) and current.

Apparatus and materials
Ammeter, 0to 1 A, DC

Voltmeter, (0-15 V), DC

Power supply, low voltage, DC
Lamp (12 V, 6 W) in holder
Resistor (approx 15 ohms, 10 watt)
Various other components

Health & Safety and Technical notes

Remind the class that the [amp will get hot, so it should only be moved by handling the lamp
holder.

Procedure

a Set up the circuit shown. Turn the power supply up until the p.d. across the lamp is 12V (the

normal operating voltage).

b Take readings of the p.d. and current.

¢ Calculate the resistance of the lamp at its running temperature.

O

d Now, for several different values of p.d., measure the current through the lamp. Plot a graph of

your results; this graph is known as the voltage-current characteristic of the lamp.






